1/500 AO N

-26400.00 % A B C §I—26400 00 & %
AN
1 8775 = 8776 8777
8785 LM 8787
- 8795 8796 | 8797
2
3
Q0
~N
Q0
01
4
5 5
6 6
-26700.00 ‘ -26700.00
A : C > 8796 E F c -

1 / 500

0] 10 20 50 100m



http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/8787.pdf
http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/8796.pdf
http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/8776.pdf
http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/8785.pdf
http://www.city.kita.tokyo.jp/d-shisetu/jutaku/doro-tochi/doro/shinse/documents/kitaindex.pdf
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